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qrT-A PART-A 1. gt fp-fenet el OX e e & 7

On what factor scattering depends.

5 7eErT =eeeT Ug AfEr @t RS i |

Define Nuclear spin and nuclear parity ?

-
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3.%@@'%@%@%%@%%%@%@ |
In Radio active Actinium series present nuclei and end product are
(Write Name or Symbol) A
4. 3T qRT=UIlr ZeEH B o e |
Write down semi emprical mass formula.
S. TR T ST Sebiol atfifEmaratt & Seree fordl |
Write down the example of ellastic and in ellastic scattering reaction.
6. ST WEaT Ufded |r g &l IR i | -
Define transient Radioactive equilibrium.
7. PU™ 1 S98, U™ g g § e s q e RO = 3 el
57 ST & ?Why PU™is used in NUCLEAR bom or reactor rather than g
8. g Ty STfsRaT B uftwiNe FHIf | |
Define the euro Nuclear reaction. .
0. T T IS U S O O R e o e A E 7
‘Why does a free Neutron notdecay into an electron and a positron.
10. JeT T = 797 Brar & ? Why is a free Proton Stable ?
AF-9 PART-B 5 L. (81) T 2Mev 7 e @t uie g B S § O S
IRETGL ‘I@Eﬁ %l ?ga 519 &4 | A proton of energy 2 Mev is bounded on a goid
foil, calculate the distance of closet approach. : g / OR
() CIP3 &7 WivTg St &1 B & | el St 4.3 Mev 2 a1 i
sy = @I | C17is decay by-position emtission with energy 4.3 Mev.
Then find the Radius of the Nucleus. |
T I1. (1) e St 1 9k SfIze 0 e | = 9% T A1 o T
@1 gaemsy | Draw and explain Binding energy curve. Also explain stability -
of Nucleus using this curve. arear /OR
(s1) A TP B AFGL 1§ ST 1 TAIT IR |
Explain magic number. Also give the evidence of existing the magic number.
e TIL (1) -1 A1 TR 1 SR RO o 3 i PR T
Yl & 7 AT |
Define Rangeof a-Particle, on what factor it will depend. Explain.&t%et / OR
(8) U™ & § T -7 Bl T Feft 3T FHifIg STaites U™, Th™ e
He' 31 e gemr A 232.037168, 228.028750 3 4.002603 a.m.u. 2 |
Find Kinetic energy of a-Particle emitted from decay of ,, U™, Dynamic
mass of U™, Th* and He'are 232.037168,228.028750 and 4.002603 a.m.u.
respectively.
g IV, (1) e Terar o fer et =9 [ |
Write the carbon cycle for Nuclear fussion. 3191 / OR
(a) wrforE Ses F AHEE | Fraferg daan arffear & aremll @l

gaemsT | Explain spontanpous fussion and also explain problem in controle

fussion reaction.
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TS V. (1) Risprargereii o1 Risiw Od By 1 T9RE0 |

Explain principle and working of synchrocyclotron.

(37) w51 o1l & o HEAH B THE |

Explain quantum number of elementry particles.
AT PART-C 1. (i) 1 ST ST et 3 o7 e ol AT 1 Trese |

Explain chadwick experiment for determination of Nuclear charge.

(i) T TR RS RIT A=235% | & R § Rive & €1 el &
HEA 2 ¢ 1% o o B q) A 2 Brewradt @ uRee HieT |

ANucleus of A=235 is split into two nucleus of mass number in the ratio
2 :1.Find the radius of the nucleii.

2. (1)W%E§HWWWW | e TRl B W
ZED! IUAITTAT T HIatT 1 fed=m ifsTd | |

Explain liquid drop model of nucleus. Point out its usefulness .and
limitations in understanding Nuclear Phenomena.

(i) ,,CI* @t T Fotl % 298Mey Tl SHH Wfﬂﬁfﬁ et G GRS C B
 H'% 5o 1.007825 T g & &9 1.008665 a.m.u.& |

Binding energy of ,,CI” is 298 Mev. Find its atomic mass. mass of ,H'is

1.007825 a.m.u. & that of neutronis 1.008665 a.m.u. “
3. 1 qX AR ool [Miaq | Write short notes on:

argar /OR

(i) o-UTTSIe | o-Paradox
(ii) eI Wik & ikl T Statistical Nature of Radio active decay
(iii) B-&19 | B-decay

4. TehrE oy & W1 T4 S iy ey | sﬂ%aqﬁmzmzrﬁ:r%ﬁq |
yoiees Ruget @2 ¢ Explain the construction and working of a nuclear
reactor. Mention its application. What is a breeder reactor ?

5. PR T IToTsT BT Ry, SISOl O STt o S | Resnf e ad

REIRISISKE] I IR i | Explain Principle, working and uses of G.M.
counter Also deune dead and Paralysis time.
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